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GENERAL APTITUDE

10.

11.

12.

13.

14.

15.

HCF of 84 & 270 is
A) 8 B) 6 C)4 D)2

The sum of first five multiples of 3 is:
A) 45 B) 65 C) 75 D) 90

7:12 isequivalent to:
A) 28 :40 B)42:71 C)72:42 D)42:72

Find the simple interest on the Rs. 2000 at 25/4% per annum for the period from 4" Feb 2005 to 18" April 2005
A) Rs. 35 B) Rs. 30 C) Rs. 25 D) Rs. 40

The average of 20 numbers is Zero. Of them, at the most, how many may be greater than zero?
A)0 B) 1 C) 10 D) 19

An athlete runs 200 meters in 24 seconds. His speed is?
A) 10 km/hr B) 17 km/hr C) 27 km/hr D) 30 km/hr

Every rational number is
A) A natural number B) An integer C) A real number D) A whole number

What decimal of an hour is a second?

A) .0025 B) .0256 C) .00027 D) .000126

Afruit seller had some apples. He sells 40% apples and still has 420 apples. Originally, he had how many ?

A) 588 apples B) 600 apples C) 672 apples D) 700 apples

A does a work in 10 days and B does the same work in 15 days. In how many days they will do the same work
together?

A) 5 days B) 6 days C) 7 days D) 8 days

How does light normally travel?

A) In concentric circles B) In a straight line

C) Always towards a dark area D) In a curved line

First Country to undergo industrial revolution:
A) France B) Britain C) Germany D) USA

A solar water heater can not be used to get hot water on
A) A sunny day B) A cloudy day C) A hot day D) A windy day

In India, the first cotton mill was set up in
A) Madras B) Bombay C) Kanpur D) Surat

Regur soil is the other name of
A) Black soil B) Alluvial soil C) Arid soil D) Laterite soil
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16. The different group of stars is known as
A) Constellations B) Celestial bodies C) Asteroids D) Comet
17.  Which country has two-party system?
A) India B) Sri Lanka C) United Kingdom D) Nepal
18.  Which of the following is a macro nutrient?
A) Mn B) Mg C) Cu D) Zn
19. The process of evaporation causes
A) Cooling B) Heating C) Dryness D) None of these
20. Place directly above focus on Earth’s surface is known as
A) Strike B) Comma C) Epicenter D) Origin
DOMAIN KNOWLEDGE
21. Copper and brass sheets are
A) Hard and brittle B) Malleable and ductile  C) Malleable and brittle D) Hard and ductile
22. Which among the following joints is suitable for roofing work ?
A) Lap joint B) Butt joint C) Hinged joint D) Double grooved seam joint
23. Bentsnip is used for
A) Removing the burr B) Making holes on the sheet
C) Bending the sheet D) Cutting the sheet along curved lines
24. *“Cyaniding” and “Nitriding” are two methods of
A) Hardening B) Case hardening C) Tempering D) Normalizing
25. The toughness in steel is increased and brittleness is decreased by a heat treatment operation called as
A) Annealing B) Normalizing C) Tempering D) Case hardening
26. Which one of the following heat treatment processes produces a scale-free surface on the component?
A) Flame hardening B) Case hardening C) Nitriding D) Induction hardening
27. The process of increasing carbon percentage on the surface of low-carbon steel is known as
A) Hardening B) Nitriding C) Carburizing D) Tempering
28. What is the main purpose of annealing?
A) To improve machinability B) To improve magnetism
C) To increase hardness D) To increase toughness
29. H.S.S. is tempered at
A) 220°C to 230°C B) 230°C to 270°C C) 280°C to 400°C D) 550°C to 600°C
30. The instrument used to measure high temperature in the furnace is

A) Thermometer B) Barometer C) Colorimeter D) Pyrometer
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31. After heating upto required hardening temperature, why must tool steels be quenched ?
A) To induce internal stresses B) To build up hardening structure
C) To fall off the scale D) To return it to its original structure

32.  Apunch is made out of unalloyed steel. After hardening a crack takes place. What can be the reason to develop

this crack?
A) The punch is too long heated B) The punch is too little heated
C) The punch is too slowly quenched D) The punch is suddenly quenched
33.  The purpose of normalizing steel is to
A) Remove induced stresses B) Improve machinability
C) Soften the steel D) Increase the toughness and reduce brittleness

34. A given component cracked after heat treatment. What can be the possible reason ?
A) It was heated for long time B) It was not properly cleaned before heating
C) It was suddenly cooled in brine D) It was slowly cooled in air

35.  Which one of the following metals does not require any coolant during reaming ?
A) Aluminum B) Cast iron C) Copper D) Steel

36. A cutting tool used to cut outside threads is called
A) Drill B) Reamer C) Die D) Tap

37.  Which one of the following is used to rectify damaged or rusted threads ?
A) Die nut B) Circular split die C) Two-piece die D) Die plate

38. What is used for removing a broken tap ?
A) Tap disposer B) Tap wrench C) Tap extractor D) Tap nut

39. The grooves provided on the entire length of the body of a twist drill are called
A) Lips B) Flutes C) Margins D) Webs

40. Itis the process of removing very small chips from metal surfaces by means of a sharp- edged tool. What is this
tool called as?
A) Scraper B) Chisel C) Hacksaw D) Reamer

41. Adouble cut file is used for filing on
A) Wood B) Hard board C) Leather D) Steel

42. Second cut in a file is the type of
A) Section B) Grade C) Cut D) Design

43. The chisel used to cut keyways is
A) cape chisel B) Flat chisel C) Round nose chisel D) Diamond point chisel

44, Snagging is a process used to remove the metal by
A) Filing B) Hacksawing C) Chiseling D) Grinding

45. Both sides of a flat bastard file have
A) No cut B) Single cut teeth C) Double cut teeth D) Wavy teeth
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46.

47.

48.

49.

50.

51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

You have to cut an aluminum block to smooth finish. Which one of the following cut of file is most suitable?
A) Single cut B) Double cut C) Rasp cut D) Circular cut

For cylindrical grinding a small diameter work with fairly large wheel, which among the following grades of wheel
should be used?

A) Soft B) Medium C) Hard D) Very soft
The best position to hold the job in the vice when filing is

A) Eye level B) Shoulder level C) Elbow level D) Arm level
The taper shank of a drill of 20 mm diameter has

A) MT-1 taper B) MT-2 taper C) MT-3 taper D) MT-4 taper
File card is used for

A) Cleaning the work piece B) Cleaning the file teeth

C) Renewing the file teeth D) Cleaning the chips

Anvilisa

A) Heavy block of cast steel B) Heavy block of mild steel

C) Heavy block of high carbon steel D) Light block of aluminum

Swage block is made of

A) Mild steel B) Malleable cast iron C) High carbon steel D) Tool steel
Which one of the following parts of a universal surface gauge helps to draw parallel lines along a datum edge?
A) Fine adjusting screw  B) Guide pins C) Base D) Rocker arm
Which type of rule is used for marking and measuring patterns and hot jobs handled by blacksmith?
A) Narrow rule B) Shrink rule C) Hook rule D) Short rule
Which one of the following is the function of tuyeres in the forge?

A) Permits cooled air B) Controls smoke and sparks

C) Acts as an outlet of products of combustion D) No function

Which among the following parts of the anvil is called beak ?

A) Rectangular top surface B) Round tapered end

C) Square hole D) Bottom portion

which among the following is a term used in forging in which the thickness of the job is increased by decreasing its
length?

A) Drawing out B) Punching C) Drifting D) Jumping

Which one of the following tongs is used while forging hexagonal bolt ?
A) Round tong B) Side tong C) Hollow tong D) Pipe tong

Forging is done when the metal is in
A) Liquid condition B) Plastic condition C) Elastic condition D) None of the above

Which one of the following operations is performed when bottom swage and top fuller are used together?
A) Hollowing B) Drawing out C) Jumping D) Bending
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61. Forgingisdone at
A) The melting point of the metal B) Below the melting of the metal
C) Above the melting point of the metal D) None of the above

62. Which one of the following vices is usually used in forging shop ?
A) Hand vice B) Bench vice C) Leg vice D) Pin vice

63. Cast iron cannot be forged because it has the property of
A) Softness B) Stiffness C) Toughness D) Brittleness

64. The most suitable heating temperature for forging low alloy steel is
A) 750°C B) 850°C C) 1100°C D) 1200°C

65. Which among the following is a forging defect, which occurs during the upsetting process when faces of the stock
become square?
A) Buckling of stock B) Folds
C) Surface and internal cracks D) None of the above

66. Which among the following is used for bending hooks of flat and round steel bars ?

A) Bending links B) Bending blocks C) Bolster swages D) Fork tool
67. Scriber is made of

A) Copper B) High carbon steel C) Mild Steel D) Cast Iron
68. Fullers are used for

A) Necking and grooving B) Forming the heads of rivets, bolts etc.

C) Making shoulders with right angles D) Drawing down
69. A high carbon steel has to be forged. Which colour indicates the most suitable forging temperature?

A) Yellow B) Dark cherry red C) White D) Light yellow
70. The process of local thinning down of a stock by forging operation is called as :

A) Setting down B) Drawing down C) Swaging out D) Punching
71. A high speed steel has to be forged. Which colour indicates the most suitable forging temperature?

A) Light yellow B) Dark cherry red C) White D) Yellow
72. Adivideris used for

A) Scribing circles B) Scribing arcs

C) Transferring and stepping of distance D) All of the above
73.  Which of the following is not the part of a combination set?

A) Stock B) Protractor head C) Square head D) Centre head
74. During marking the reference surface is provided by

A) Sketch of the job B) Work piece

C)Marking off table surface D) Surface gauge

75. The point angle of center punch is
A) 30° B) 60° C) 90° D) 120°
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76.

7.

78.

79.

80.

81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

The minimum distance from a rivet hole centre to the nearest edge of the plate is called
A) Lead B) Pitch C) Margin D) Lag

In a riveted joint the edges of plates are simply laid over each other and riveted. This joint is called
A) Lap joint B) Bultt joint C) Edge joint D) Corner joint

The centre to centre distance between two adjacent rivets in the same row, measured parallel to the seam or edge
of the plate is called
A) Lead B) Pitch C) Margin D) Lag

Caulking and fullering are the operation done to make riveted joints
A) Flexible B) Strong C) Rust-proof D) Leak-proof

In a riveted joint pitch is the distance between two adjacent rivets in the same row, measured parallel to the seam.
Itis usually equal to

A) Diameter of the rivet hole B) 2 x Diameter of the rivet hole

C) 3 x Diameter of the rivet hole D) 4 x Diameter of the rivet hole

Which one of the following is a type of permanent fastener?
A) Cotter joint B) Flange coupling C) Knuckle joint D) Riveted joint

A dolly is the name given to a category of tools used in
A) Shaping sheet metal ~ B) Soldering sheet metal  C) Piercing sheet metal D) Testing sheet metal

Which among the following tools is used for flattening the metal around punched hole?
A) Ball pin hammer B) Riveting hammer C) Setting hammer D) Sledge hammer

Which one of the following is the common reason for using aluminum sheets?
A) Lightness B) Brittleness C) Softness D) Hardness

The thickness of sheet metal is indicated by a series of numbers, which is called as
A) Number size B) Gauge C) Standard size D) None of the above

Calculate the tap drill size in mm to tap M12 x 1 thread
A) 9.6 mm B) 10.8 mm C)11.38 mm D) 11.62 mm

What coolant is used for drilling the aluminium job?
A) Dry air B) Kerosene C) Soluble il D) Mineral oil

Calculate the drill size for 20 mm reamed hole using the formula, undersize of hole = 0.3 mm and oversize for drill
=0.05 mm.

A) 19.80 mm B) 19.75 mm C) 19.70 mm D) 19.65 mm
What is the correct tap drill for tapping M16 tap?

A) 14 mm B) 14.16 mm C) 15.03 mm D) 15.08 mm
Which is the possible cause when a twist drill produces a rough hole on the job ?

A) The clearance angle is too big B) The clearance angle is too small

C) The cutting speed is too small D) Feed rate is too high
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91.

92.

93.

94.

95.

96.

97.

98.

99.

100.

The eye hole of the hammer is oval and tapers towards the centre because

A) it reduces the weight B) it is easy to manufacture

C) it reduces the effort required to hammer D) to wedge the handle

Malleability is the property of metals which helps to manufacture
A) Rods B) Plates C) Thin sheets

Which angle makes rake angle in a twist drill?
A) Chisel angle B) Point angle C) Helix angle

Ductility is the property of metal which helps to manufacture
A) Wires B) Sheets C) Pipes

The faces of anvil and spindle of outside micrometer is made of
A) Cast iron B) Steel C) Tungsten carbide

Brass is an alloy of
A) Copper and zinc B) Copper and tin C) Copper and aluminum

The cutting angle for chisel, for chipping mild steel is
A) 45° B) 50° C) 55°

For sawing cast iron the coolant used is
A) Water B) Dry air C) Kerosene

Which one of the following metals is used to protect from corrosion?
A) Copper B) Lead C) Nickel

In vernier bevel protractor 23 degree is divided into how many vernier divisions?
A) 25 B) 20 C) 12
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D) Wires

D) Lip clearance angle

D) Plates

D) Aluminum alloy

D) Copper and lead

D) 60°

D) Soluble oil

D) Chromium
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GENERAL APTITUDE

10.

11.

12.

13.

14.

84 & 270 T HgIH THTIAAF &

A) 8 B) 6 C)4 D) 2
CERRERIERUSIEIRIT S

A) 45 B) 65 C) 75 D) 90
712FET g

A) 28 : 40 B) 42 : 71 C)72: 42 D) 42 : 72
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A) =, 35 B) %. 30 C) ®. 25 D) . 40
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A) 0 B) 1 C) 10 D) 19

U gTa% 24 THe § 200 Hiex S¥=ar g It A 82

A) 10 Tt/ B) 17 fafir= C) 27 Tt/ D) 30 fafi/e
T T TedT g

A) TF TTiaH T&IT B) T qUTi C) U aTEqfash HeaT D) T o &
U He HT FohadT I98Ad T Tohe 872

A) .0025 B) .0256 C) .00027 D) .000126

T e TaoRdT o T8 T8 99 8| 98 40% 99 99 <aT g e o 389 919 420 99 a9 SATd g1 I 979 g
&7 ¥ o 97 a2
A) 588 &= B) 600 &= C) 672 &= D) 700 &=

A TRt 19 T 10 foAT # *ear g oie B St 1\ &1 15 A1 & #ar g1 F v o 39 F: &7 Ghad
AT & F:43r?
A) 5 &= B) 6 & C)7 = D) 8 &=
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15. T fwgrzasr gaaram g

A) et gt B) ferereit ot C) ufve fagr D) =exTze et
16. T = AT q9g FgATd &

A) AR B) smeTefir fiiT C) &57E D) gk
17. o 3or § 37 gt ot 82

A) IR B) =fT =kt C) FAT3eE fvew DERIE]
18. 7= & & 9 UF HHT TUF g2

A) Mn B) Mg C)Cu D) Zn
19. TSI T TTHAT T FHILOT AT &

A) sfrae= B) aTu+ C) grehat D) =¥ ¥ ®Is A8l
20. TAET % Hdg T BIHH o Sl HUL K T FgaATdl §

A) ¥ B) AT C) uftsiet D) arfefsi

DOMAIN KNOWLEDGE

21. Wqo 7 qiaT feF gt g

A) F&T 3T WX B) ARHAT ST ATARAT  C) ALHAT AT §T D) F&q 3T ATAd]
22. =A% W F fou Aefofed § 9 % 91 Sig I 2rar 82

INEREIE B) ag S C) fEse itz D) Zr2T == f&H STiE
23. SEHTHTARZATE

A) T F gara & forw B) ¢ffe # & & & forw

C) <fte =1 "r= =+ forw D) = Y@ ¥ ofie #ir #red * forg
24, 'ATEATERT @7 ArEeaea o fAfa g

A) TEAHLIT T B) & TEA TR FT C) dufiar =1 D) HLEA T T
25. T T FSILAT & g 3T SIEAT Fedl g a1 TR FIT, I8 Fgdral g

A) TR B) #rCef e C) &ufar D) ¥+ F e
26. T UL ThA-H<H TAG I o (o0 (HATerted | & &= & arq &8 sequrer & st g2

A) ST T R B) T T 1T C) ATzers =T D) Z=ohee T 10T
27. Ru-F1da &6 F qag 9 #raq gfaad gera i @t s Sref 8

A) TE T B) ATz e C) F=gzT=fohT D) Egfar
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28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.
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